
l .(,

floEqlga <T<4IrF{ T{$1-<

fiffi-{ s EE FtFlqf\qd(
<t(dlrrxt, sffl

www.dshe.gov.bd

\.4--
, ' i-.r{S

FrE'r frrI ivr{l cq.t

r"frl {ft{]l al<qIn-l

{]ltS {(- \)q.o\.oooo.5o9. g5.ooE.\o\9- \\{b ffil , {frrsil"lo R
oflq qnr.t

frfrqr Clt{rd{ Ft'Ft) als6as fas;s adffirtc.r* qnr* 
"I-e{ <fu x+cl RGa qr+tet tffi*l <reT{lrRE fu-B-a-

fr\riAn-u{-q.qv$ S fqur e qfil5rrd(Er {<r<{ /ffi{ q{st t s qarr{D q-firr{ s $lrcfriF drntqr{ +rqM{
nfrv *qq q*m rqr+ry€x v.<rsl{ BF +riat{o $fi< &rbt.F CE nqr r:rl qrEtr

q{rt l-sIA-{Tfi \3 c{tb ft{
\e/oe/\e <(q i1/o8lte = tl It{ I

\c/og/\e Eav og/ollle = ol fr{l
Qo/so/\s {Cs \U/So/t,r = oA fia
Qe/oe/le qas \9/o8/\e = \\ l({l
Qc/o\r/Qe <65 og/o17q9 = o1 fi-l t

eo/So/es <F tb/5o/t\e = 08 ft{

og \C/o\g/\e <a\5 o\L/o1/i\, = 01 ft{l
lo/5o/le {fs irAo/le = oS ft{
lo/So/\e {(q Qr/so/Qe = 08 It{

Ffrs
o\

oi

$c+Tr* TB$ Effi--l$o
q{rc', tcsn rR4l Fffiq, E.ol

$(+-rFr (q{dlqt r<'l{- 5e1c
ts'tl$s, tM{ xfu{riq, o+]'

cs)
({)
('t)

A1TT{ (IIRTTh Fl{lc Bfr-{-tgCb
q$5, rn-fa1-q .{Tr6sfr Yr qEq'T qo frSrdl-
S(EEI'TTTNr{ frq.lXRBEq, ETOI

(T)

(t)
(fl)

$
(s)

(D

(a
(q)

({)
(s)
(r)

d)
(9
(D)

o8

SrFq-< clts qlq]-nBsR qlE {A-s\rss
q{rF, Trsff{r TfsrR orqq, qlsfi$

(a)

(T)

lo/5o/\e R-65 \t/5o/\e = 08

Qo/so/ls {a\9= tE/so/t\, = 08 fi,{
oQ

$mr{ fll. ffietjtq* rqfl{-caca
q$s, T{BSFr >1g+1R {fur T'ffiq, TG$r
q{fi'FF s. mf. Emqf* fr.eT-asxc
stlJE, 9ffi;r(trs xrffi of+s, ufc

(T)
({)
(+)

({)

\

av

q$s, Ts{Tr{ Ft{ r$I<ryt Taqq, <('F

s$s, Rt6 ql{ri5 {trflft p5qq, ft1"1r<qq

n?Tr{-\8qts

src*l <li-s-bcir!

io/5o/\e qF itAo/\s = 08 fi-{

r1{, "FiA s <ff{ F{T{
CO
({)
('f)

58/ocllo Eas st/o\L/to = \1 fr{l
\1/o1llo q6iT o8lob./lo = og fr{l
l\6(,/10 q(g goAo/\o = o\L fr{l
JsAVQo E6, es/svto = 5e fr{l
s1/o8lq) qcs 5b/oclt5 = q\rfr{ |

s1/o1las E65 \a/o1lll = oc frit
\\/so/\} {[s to/5o/qr = ou frtt
s\e/5a/ts EIs e5/5v\s = 5\ ft-{ r

t5/o8llt {N ocloclt\ = ob fi-{ |

o8lo1l\l {N 58/o17q = or ftat
o5/5o/tl Erg 5o/5o/\\= oqfi-q I

5c/5vt\ q(g s5/5VAi= 5oft{ I

\e/oe/te E(g \1/o8l\e = at fi-{l
\c/os/\e Ec\5 o\9/o1l\\, = ot fti t



ob $cqrt:t s. 6TT. {r{{< rlcBllq-stl\g
q$}F Ttrftfr €r5\3!11i O(dtq, ffi{I

5o

$(sq< (TI3 qrT4 qElFi-qsb5
$epqp asqfi ,ess$6 {c{q, E'tT{t

c<t)

55

q{rF, ft€< Ti-{]fi oFiq, Trft-s'tq
SF-TII Trrl< rrRI-c886 (T)

5t $trF'BI CIT: STfrTi Rfl;I-bgr!ts
b"rq-s, frs< {trstR +'cEq, TrR-s'lq

({)

scFrn firqt3 {qfl {Te-cg6\,
q$r5F, ]tft E<Ift rrorR rRqr Trnq, {Rbrr

(q)
({)

58 :rc+-rB[ flts <RUq qEl-s\rso
b{r$s, fift 6<Ifr xrffi rRet +5aq. ftFR

(a)

5C.

Uqt$T, sl-s.|{rB-$ +rffi qfutFc{q, $sq-<tB.TI

$(+-rBt s. (TI3 -\,8tsO (T)

({)
(rt)

(s)

$as>K ffiQIB sFl TGFTQT kqlf+\bsot
E,tt{rlr, ltsfffl )rrcfi+.rcs, {vfrfl

(T)

5q (T)

(s)<Y?lT- a\b!! O

q{r5F, EEaIr TSSTR Trsq Eq ,4E Trt'q. EEaIT

{{l{{ +v'tm!{ qsTfE-{EI{ ,! qt r.t q.tR T_<I {r{tr

ou I q{IrF, .........

\oAolle {(g \ts/5o/\s = 08 fil

lo/So/le C-(s \E/so/l\e = o8 fltd

Qo/so/ie {(9 lt/5o/\e = 08 Ii.{

lo/5o/le {cs \u6or\o - ot *

\c/o\L/\e Tr\5 o\b/oqlle = ol
lo/so/ls {.g tu6orao - ot *
\o/so/\e q(9 lt/5o/le = 08

l5/o8lll Ers odloc./t\ = ot ffil
o8lo1lQl {N 58/o1/tt = ol ft{ I

o5/5o/ll Efe= 5o/to7qq= o1fi-41

sd/5vtt {as e5/svat= 5oft-{ I

io/so/le C-fg \tsAo/t\e = o8 Frn

\o/so/\e <s \ts/so/Qe = 08 ltd

lc/og/le qf', o\9/o1l\9 = oi fr{l

\p

(crl3 stklq *qIT- scccr)
lrsrft {REr{+ (Fr{q-s)

s(T-ffi qF{q -81o8
s{r$s, SrqE {frrfr offiq, .fir6-{qR

'P

ffi CTFI: 85oO055l

"arm{Rfi<fr:rs<F
oa I cErtstsqr R{r<-rrFEl r.d+6l

frsffl

o\b I q{fq ..............
oqtl(<s6liRl

(T)

)b"

q*frFt fir q-{'lB e $(T|qa-{ s|dtd (dfiv qr{t :-
ol t ,lRrfr+ (+rqq s SAc-{), clffir e SE fiTf qf\rt-{, il<akE.t, rFFf;
oe r d{f{ R{FrdF.t e{+6r, ftfi roqET, 8a, ,Iff{I n6{, EFF[;


